SEAT

310F Carbon Seat - Large, 26cm - 30cm track spacing
311 Carbon Seat - Medium, 18cm - 23cm track spacing
316F Carbon Seat - Small, SLW 1x

625 M5 Nylock nut
621 M5 Flat washer
611-12 M4 Pan head screw, 12mm

621 M5 Flat washer
620-12 M5 Pan head screw, 12mm

322 Seat axle 300 Seat complete

312 Adjustable seat riser

’
666 M6 Flat washer
667 M6 Lock washer
320 Ball bearing wheel

640-25 M6 Hex head bolt, 25mm
(Install with Loctite 242)




